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QUESTION 1

Recent studies of the gender gap in the history of United States politics tend to focus on candidate choice rather than on
registration and turnout. This shift in focus away from gender inequality in political participation may be due to the
finding in several studies of voting behavior in the United States that since 1980. differences in rates of registration and
voting between men and women are not statistically significant after controlling for traditional predictors of participation.
However. Fullerton and Stern argue that researchers have overlooked the substantial gender gap in registration and
voting in the South. While the gender gap in participation virtually disappeared outside the South by the 1950s,
substantial gender differences persisted in the South throughout the 1950s and 1960s, only beginning to decline in the
1970s.

The author of the passage cites "several studies of voting behavior in the United States" to

A. suggest that rates of change in political participation have moderated

B. provide a possible explanation for a propensity among certain researchers

C. indicate an area of research that is particularly promising

D. speculate about the implications of a change

E. suggest that a particular area of study has not been very productive

Correct Answer: E

QUESTION 2

Stations A. M. and B are located along a certain train route, and Station M is between Stations A and B. At noon, a train
engine passed Station A traveling at a constant speed of SO kilometers per hour toward Station B. Also at noon,
another train engine passed Station B traveling at a constant speed of 60 kilometers per hour toward Station A . Botli
train engines passed Station M at the same time. What is the ratio of the distance along the route between Stations A
and .1/ to the distance along the route between Stations A and B ?
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: D

QUESTION 3

The manufacturing cost of the item that takes the most time to manufacture is approximately what percent greater than
the cost of the item that takes the least time to manufacture?

A. 10%
B. 50%
C. 75%
D. 100H
E. 200%

Correct Answer: D
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QUESTION 4

The notion that scientists consider the work they do to be (i) contradicts popular stereotypes that depict the
work of scientists (and the scientists themselves) as being formal and rigid, following lockstep procedures in which the
(i) elements of researchers\\' personalities fail to enter their labors.

A. socially useful

B. affective

C. emotionally satisfying

D. cognitive

E. intellectually demanding

F. conjectural

Correct Answer: BE

QUESTION 5
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The tick marks shown on the number line are evenly spaced. Points D and £ have coordinates of

1]

4" and A

4-r

respectively. The point that has a coordinate of is
A. point A

B. between points A and B

C. between points B and C

D. point C

E. between points C and D

Correct Answer: E
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